Installation Instructions
B900 Handrail

FIG. 1

WOOD BACKER WALL

WOOD BACKER

A I

L

L] =—

L

1/2" PLYWOOD :'L /

OR PARTICLEBOARD

5/8" DRYWALL

Please read all instructions before

installing handrail. Note: Install product

in environmentally controlled conditions.
Acclimate the product to room temperature 24
hours before installation.

Wall Construction: There are two options for wall
construction when installing a bariatric handrail.
See Figure 1.

METAL BACKER WALL

5/8" DRYWALL

METAL BACKER

[
/"/

1/2"pLywoop — AL —— |
OR PARTICLEBOARD

Wood Backer: Construct walls with 20-gauge metal framing Metal Backer: Construct walls with 20-gauge metal framing with

with vertical studs spaced 16" on center. Horizontal wood
strapping to be 2x6 board attached to studs with 2" pan
head framing screw. Attach a single layer of 2" plywood or
particleboard to the metal framing with #8 x 2-1/2" coarse
thread drywall screws followed by 5/8" gypsum board.

vertical studs spaced 16" on center. Horizontal metal strapping
is to be 16 gauge x 6" wide attached to studs with 2" pan

head framing screw. Attach a single layer of V2" plywood or
particleboard to the metal framing with #8 x 2-1/2" coarse thread
drywall screws, followed by 5/8” gypsum board.

IPC.1518/REV.2

PO.Box 406 - Muskego, Wisconsin 53150 USA
inprocorp.com

Nationwide 800.222.5556/Fax 888.715.8407
International Sales 262.679.5521/Fax 262.679.5524

ANPRO CORPORATION.

Interior and Exterior Architectural Products



Installation Instructions
B900 Handrail

FIG. 2

SPLINE

LEFT (RIGHT) RETURN
ALLOWANCE: 3"
OUTSIDE CORNER
ALLOWANCE: 0"
INSIDE CORNER
ALLOWANCE: 4-1/2"

FIG.3
DO NOT BREAK INTO
THREADED AREA
SPACE HOLES |
L MAX. 16"
4" FROM ON CENTER
EACH END
FIG. 4a FIG. 4b
HANDRAIL
RETURN/CORNER
ALUMINUM HANDRAIL
%~ HANDRAIL ALUMINUM
#10-24x1-3/4 NN _ SPLINE 1420 %1
PAN HEAD PHILLIPS TRUSS HEAD
SHEET METAL MACHINE SCREW
SCREW
HANDRAIL RETURN/CORNER
FIG.5

HAND RAIL
BUTT JOINT

#10-24 x 5/16"
PHILLIPS TRUSS
SHEET METAL SCREW

HAND RAIL SPLICE MARK HOLES

HAND RAIL
SPLICE

Handrail Installation

1. Cut the aluminum handrail to the desired lengths
leaving allowances for returns, outside corners and
inside corners. Break sharp edges with fine Emory
cloth. See Figure 2

Handrail Allowances:
Return - 3"

Inside corner — 4-14"
Outside corner — 0"

2. Bracket Spacing: Use brackets 4" from each end
and spaced a maximum of 16" (406mm). Drill 1/4"
holes on the bottom of the handrail aluminum for
brackets. Be careful to drill only through the outer
wall of the handrail aluminum. See Figure 3.

3. To attach returns and corners: a. Attach splines to
handrail using two #10 x 1-3" sheet metal screws
per spline. See Figure 4a.

b. Attach returns and corners to handrail by sliding
component over the spline and secure with a %4"-20
X 1-1/4" Phillip Truss Head Machine Screw.

See Figure 4b.

4. For lengths longer than 12', use a splice to join
sections. Butt the two sections together, using a
splice as a template, mark the hole locations. Drill
1/4" holes on the bottom of the handrail aluminum
for the splice. Connect the two pieces using the
splice and two #10-24 x 5/16" Phillips truss head
screws. (Note: splice must be positioned inside
handrail). See Figure 5. When using a splice, install

brackets 4" on either side of splice.

PO.Box 406 - Muskego, Wisconsin 53150 USA
inprocorp.com

Nationwide 800.222.5556/Fax 888.715.8407
International Sales 262.679.5521/Fax 262.679.5524

ANPrO CORPORATION,

Interior and Exterior Architectural Products



Installation Instructions
B900 Handrail

FIG.6
BRACKET COVER
1/4" LOCKWASHER
1/4X 3" HEX HEAD
GASKET WOOD SCREW
(WOOD BACKER)
1/4" X 3" HEAD HEAD
BRACKET MACHINE SCREW,
FLANGE LOCKWASHER & HILTITOGGLER

(METAL BACKER)

Fig. 6a. WOOD BACKER

1/2" PARTICLE BOARD
2" x 6" WOOD BLOCKING R PLYWC;OD
(by others) y others,
L

~
~

s
~
~

s
7/
~
~
N

_

OOD SCREW
FASTENERS PER BRACKET

X J(/\ 5/8°DRYWALL
EvR&%érLséTUD (by others)

>
]
=

5. Slip stainless steel cover over the bracket post. Screw
brackets into the holes on the bottom of the rail and
align mounting flanges.

6. Snap a chalk line on the wall 3-9/16" below the top
of the handrail. Drill 1/8" pilot hole (wood backer
installation-See Figure 6a) or 3/4" holes for toggle
bolts (metal backer installation-See Fig. 6b) Position
a black gasket on the back of each bracket. Attach
the stainless steel brackets and handrail assemble to
the wall. Level and tighten bracket to the wall. Snap
stainless steel bracket cover on the bracket flange.
See Figure 6.

Fig. 6b. METAL BACKER

1/2" PARTICLE BOARD
OR PLYWOOD

GALV. STEEL
SHEET METAL
(by others) (by others)
VERTICAL STU
éby otshers

7 % 7
LSS S S
S

IR

[
//////

1/4 x 3" HEX HEADMACHINE SCREW,
LOCKWASHER & HILTI TOGGLER 1/4"

g
(s
~

%

5/8" DRYWALL
(by others)

PO.Box 406 - Muskego, Wisconsin 53150 USA
inprocorp.com

Nationwide 800.222.5556/Fax 888.715.8407
International Sales 262.679.5521/Fax 262.679.5524

ANPrO CORPORATION,

Interior and Exterior Architectural Products



